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Choose the correct answer and write its number ( 1, 2, 3, or 4 ) in the

Class: Pri1SY/C/G/SE/P/GR
brackets provided.

Section A ( 2 marks each )

Parent's signature:

Name:

37
\___./

Y
\—f

vy
\if

63
73

(3)

stars.

There are
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2. Which is “he correct number sentence for the picturs
below?
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(1) 4dgroupsofb (3) 5&5x4 .
(2) 4fours (4) A4A+4+4+4+5 ( )

3. There are nines in 18.
(1) 1 (3) 3
(2) 2 (4) 4 ¢ )

)
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4 | can see circles in the submarine.
(1) 1 (3) 3
(2) 2 4) 4 ( )




5.

What is the iime shown on the clock below?

(1) 8o'clock {3) 100o'clock
(2) 9o'clock (4) 12 o'clock

Amy went to the market with $5. She bought a packet of milk.

How much money had she left?

(1) 31 (3) 83
(2) %2 (4) %4

e = > [ =3 r:m =
FEACHER

The letter is third from the right.
(1) T (3) O
(2) H (4) E
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How many two-dollar notes can | exéhange from the amount.
shown above? ' -

(1) 5 - _ (3) 15

(2) 10 (4) 20 ()
is less than

(1) 10¢ (3) 30¢

(2) 20¢ (4) 40¢ ( )




11.  Marian, Joy and Sue shared 15 sweets equally. How many sweets
did each girl get?

12.  Which of the following does not have a curve line?
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Look at the picture below.

13. The total height of two similar trees is ﬁ

(1) 6 (3) 3
(2) 9 (4) 5

14. Andy has 6 fifty-cent coins. He wants to buy a toy which costs
$6. How much more does he need?

(1)%5 (3)83
(2)38 (4)%6




Section B ( 2 marks each )

Do these sums carefully.

15. . a > ! D (& ‘3
’ l ’ 64J ’ 65’ | ‘ 1 67

186. 100 is tens and ones.

17. 5tens 9ones =

18. 22is less than 32.

19. & stands for 2.

WA A O A

20.  Write the number sentence for the picture abeve.

12




21.

O

Which of the shapes below can fit the hole in the

pail? Circle the letter below the correct shape.

S~

Study the pictures below and answer Questions 22 and 23.

camera

hl lock , _I

I {

22.

23.

24

25.

/\ VAN

The mass of the camera is l:]

The lock is B heavier than the camera.

Siti bought a pencil for 55¢ and a ruler for 40¢.

She spent ¢ altogether.

8+10+3=

10




26.

27.

28.

29.

30.

20 more than 44 is

The number iust before 80 is

15lessthan%0is _

Subtract 2 tens 6 ones from 68. The answer is

Which two numbers below will make a total of 547

Circle the numbars.

29 33 53 - 21




The graph below shows the number of books read by 4 pupils in a month.

Number of books

stands for 1 book.

31. and
books.

32. Erica and Debbie read

10

read the same number of

books altogether.

O



33. The little chicks. are put into groups of

34. Continue the pattern by drawing the next patternrin_ the-Blank.*

NN AL A

35. Draw in the hands to show half past 4.

1l
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36. Line is langer than line but shorter
than line A.

Study the pictures below and answer Questions 37 and 38.

Book-$12 Blouse-$3 [Toy ship-$9

37. The toy ship costs $ less than the book.

38. The cost of the 3 items is $

_,-2 .
12



Look at the graph below and answer Question 39.

Amount of money saved

Tiana $$%%

Elaine [$§$$%$5% 3%

Janis $$%

Each § stands for $1.

39. Janis and Tiana saved $ more than Elaine.

40. Colour the two shapes that make up the cat.

)

13




Look at following carefu'ly and answer Questions 41 and 42.

|

( .

Ribhon A Z

|

/Q

|

!
Ribbon C Z

; Rihhon D

I |

41.  Ribbon and Ribbon have the same

fength.

42. Ribbon B is about

units shorter than Ribbon D.

14



43.

44,

She had $

— —

5 for $2;

Mrs. Koh.paid $4 for some muffins. How many muffins did . -

she buy?

She bought muffins.

change did she get?

Five dollars

3 $5

change.

15

- Mrs Koh paid the casHier with a five-dollar note. How much

s



S 3ction C ( 3 marks each )
Story Sums

45.

46.

There are 90 pages in a story book. Rachel read 43 pages. How
many more pages does she have to read to finish the story

book?

O

She needs to read

|

more pages.

Ali puts 3 stamps equally on 4 pages of his album. How many
stamps has he?

T e Vi ow
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He has stamps.
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47.  Mother bought 5 lollipops on Monday. On Tuesday, she

bought 3 more lollipops than on Monday. How many [ollipops
did she buy altogether?

O
She bought lollipops altogether.
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48. Anne drew 16 happy faces. She coloured them equally in
green;-red,blue.and-pink:-How :many faces have the same-
colour? Colourthe happy.faces:and write:down.the correct
answer.

faces have the same:colour. .

End of paper S !j/_ 6

17
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15.

17.

19.

21.

23.

25.

27.

29.

31.

33.

35.

Answer Sheets

Singapore Chinese Girls’ Pri 1 SA2 /2006 Mathematics

2y 3 3)
9 2 10}
15.(:?,&:{; E_i?
".' s
414" JGW
63
50+9 =59
2x5=10
C
Lock = 7
7-5=2

8 +10 +3 =21
79

20+6 = 26

66 — 26 = 40
Reshni and Myra

4 groups of 6

2
4

4)

3

1) 1

Page 1 of2

18.

20.

22.

24.

26.

28.

30.

32.

34.

36.

3 1 6) 2 o2
12) 1 B3) 1 14) 3

10 tens 0 ones

22 is 10 less than 32

2x4=38

5

0.55¢ + 0.40¢ = 0.95¢

20 + 44 = 64

50 — 15 = 35

2 {21) 5 @

5 + 6 = 11 books

Line C is longer than Line B but
shorter than Line A



37.

39.

41.

43,

45.

46.

47.

48.

Toy ship = $9 38.

Janis + Tiana = $3 + $4

40.
Elaine = $6

=3%7-%6 =81
Ribbon A and Ribhon C 42.
$2 = 5 muffins 44,
$4 =5x2

10 muffins

90 — 43 = 47 pages
She needs to read 47 more pages.

3 x 4 = 12 stamps
He has 12 stamps.

5 + 3 = 8 lollipops
8 + 5 = 13 lollipops
She bought 13 lollipops.
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Green Red Blue Pink

16 -4 =4
4 faces have the same colour.

Page 2 of 2

$(12+35+9) = $56

Ribbon B = 2 Ribbonr D = 4
4 — 2 = 2 units shorter

$5 - $4 = $1
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